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The concrete strength does not fulfill the code requirements concerning the exposure class: 28 MPa < 30 MPa - E.1(2).

For top reinforcement in the direction of X axis at the point: (0.50, -1.34) ArfAt =083 < 1.0
For top reinforcement in the direction of X axis at the point: (0.50, -0.45) ArfAt =083 < 1.0
For top reinforcement in the direction of ¥ axis at the point: (2.50, 4.02) Ar/At=0.54 < 1.0
For top reinforcement in the direction of ¥ axis at the point: (2.50, -3.13) Ar/At = 0.54 < 1.0

For bottom reinforcement in the direction of ¥ axis at the point: (2.50, 4.02) ArfAt=0.56 < 1.0

For bottom reinforcement in the direction of ¥ axis at the point: (2.50, -3.13) ArfAt =056 < 1.0

1.5.1. Maximum moments + reinforcement for bending, compression/tension

Ax(+) Ax() Ay(-)
Provided reinforcement (mmz2/m}:

1005 1005 1005
Modified required reinforcement (mmz/m}:

1216 939 1805
Original required reinforcement {mmz2/m):

1216 939 1805
Coordinates (m}:

0.000;-0.457 2.500;-4 470 3.000;-3.973

1.5.2. Maximum moments + reinforcement for bending,

Ax(+) Ax(4) Ay(-)
Symbol: required area/provided area
Axi+) (mm2/m) 1216005 9901005 950/1005 950/1005
A=) (mm2/m}) W100s 939M1005 939M1 005 9391005
Ay} (mm2/m) 200M 005 1867M 005 18671005 18671005
A=) (mm2/m) 221005 18051 005 1805M 005 1805/1005
SLS
Wz (kN*mim}) 103.87 043 1.66 1.66
WMyy (kN*m/m} 0.00 723 2.2 2.2
W=y (kN*m/m} -5.09 0.36 -0.42 -0.42
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Calculation report
does not recognize
the additional rebar
in zone 1/7+ and
reports error based
on reinforcement in
"base" zone 1/2+

Or maybe Section
1.5.2 should be
reporting only the
additional reqd
rebar/add.
provided rebar of
862/1005 as
against total rebar
of 1867/1005.

m

Reinforcing zone definition

(7 Aukomatic
irimum zize of zones without L '.'I_EIEIEI [ m
_ reinforcement _ —
Criterion-zanes with denzelp-zpaced reinf. B0.000 | =
@ Manual
Lizt of pozzible solutions:
[1 4568k
Bars
Coardinates [p1; p2] [m) p1DP2
[ Add |
Basic| Increase of Reinforcement
Y Zone | panel ¢ 3 zone Va
name| para ~—— — .
e (mm) 7| At | ar | as
2 112+ i AlG 200 r 1005 | 1005 0
T 17+ - AlE 200 ) 862 | 1005 | +144
E >
1| 1" 3
[ Dielete reint.

Close


Kojo Brown
Polygon

Kojo Brown
Polygon

Kojo Brown
Callout
0.54 = 1005/1867

Kojo Brown
Text Box
Calculation report does not recognize the additional rebar in zone 1/7+ and reports error based on reinforcement in "base" zone 1/2+
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Or maybe Section 1.5.2 should be reporting only the additional reqd rebar/add. provided rebar of 862/1005 as against total rebar of 1867/1005.  




